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Narrowing Down State

Delta Debugging narrows down failure-inducing state changes:

! = δ is applied, " = δ is not applied

# a′[0] a[0] a′[1] a[1] a′[2] a[2] argc argv[1] argv[2] argv[3] i size Output Test
1 " " " " " " " " " " " " 7 8 9 ✔

2 ! ! ! ! ! ! ! ! ! ! ! ! 0 11 ✘

3 ! ! ! ! ! ! " " " " " " 0 11 14 ✘

4 ! ! ! " " " " " " " " " 7 11 14
5 " " " ! ! ! " " " " " " 0 9 14 ✘

6 " " " ! " " " " " " " " 7 9 14
7 " " " " ! ! " " " " " " 0 8 9 ✘

8 " " " " ! " " " " " " " 0 8 9 ✘

Result !

Conclusion: a′[2] being 0 (instead of 7) causes the failure.


